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| Time : 3 Hours 15 Minutes | | Full Marks : 70 |
qrieferar & ford frd : Instructions for the candidates :

I. 9Tt OMR 39T wA& 6T HGAT 1. Candidate must enter his / her
v gfeawr maie (10 B @) Question Booklet Serial No.
Havg ford | (10 Digits) in the OMR Answer

' Sheet.

2. gl gyrgva sqe @l A &1 2. Candidates are required to give their

JAT 3 answers in their own words as far
as practicable.

3. zifel #iv gnferd Wy 4 g0 3% QUIlF 3. Figures in the right hand margin
fAfe #ed &1 indicate full marks.

4§ & eqrgEdd Y4 # W 4. 15 minutes of extra time have been
gl &t 15 e &1 sfafre aqq allotted for the candidatles to read
fear mar &1 the questions carefully.

5 Jg NI gﬁ‘-ﬁ:‘f gt vl 4 & — 5 This question booklet is divided into
&Ug-3 Uq @US-T/ two sections — Section-A and

Section-B.
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6. W—ar - 4 20 mﬁqﬁ uyT ?‘, Eﬁ"-’f} 6.

# Rt 3s gy @ I
Afvard &1 35 geai @ sifuw F I
3P W T 35 @ g gode &
YeE & forg 1 e Freifia &1
3R 37 & [0 3yerey F0d T OMR
IW-vAs H fg omg wgt fEed @
et / @ arr v @ wmE W
et st gew & wyew / WA
9Tl / &g / ArgA Iife FT OMR
I uFF ¥ ygim @vw w8
Wﬁﬁqﬁmmg}m’

GUE - T H 20g Ity g |
g & f 2 o Frika &, frm
g fe=t 10 weal &1 Fav T
Afrard & | g7 sifaftes g7 @vs 4
6 3d Feia gy 2 § TEE &
fore 5 sia Friifia &, Frnl @ Reeet
3 Qv FT IT AT AFrard 21

fedl g ¥ goiaii-E TR H 8-.

s goferar afa &

In Section-A, there are
70 objective type questions, o, ;
which any 35 questions are tq K
answered. If more than 35 quest
are answered. then only first 35 iy
be evaluated. Each question Carre
1 mark. Darken the circle with

/ black ball pen against the COrrey
option 0N OMR Answer Sheer
provided to You- Do not
whitener / liquid / blade / Ry
etc. on OMR Answer  Shee
otherwise the result will ,

invalid.

_ In Section - B, there are 20 shopg

answer type€ questions, eqcp
carrying 2 marks, out of which any
10 questions are to be answereq,
Apart from this, there are 6 long
answer type questions, eqch
carrying 5§ marks, out of which any
3 questions are to be ansiwered.

Use of any electronic appliances is
strictly prohibited.
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WU - 37 / SECTION - A

Question Nos, ] to 70 haise 35x1=35

Sour options, out of which only one is correct.

mark your selected option You have to

on the OMR-Sheet. Answer any 35 questions.

1. mﬁm(%h % s . 35x1=35
) F s & fo Frefefan § 2w b o
A) p=lth |
2 B )
(B) H =
(C] H= -H_r_
2 (D)  pu= ”—é’_
Which of o
COI;z r }09 the following is correct for refractive index of mean colour ( yellow
A = ety _
S 2 BV "= E.r_%
l_L .
2 (D)  p=-%
TR T ool i 9 ) v a2
@ B ¥
[C] 100 cm [D} 10 cm
Power of parallel sided glass-slab is
(A) infinity l/{‘Br Zero
(C) 100 cm (D) 10 cm
3. @iy aui-faeiger SRR a8
A (e, —K,)A B (k,-n,)
(C)  (m, +H,) D)y, +1,)A
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Angular dispersion is equal t0
| ()

(A) (1, -H,)A

€ (n, +n,) :
it et & forg P 3 W E

A f,=f. B fo>le

& Ll D) o<t
Which of the following is correct for Astronomical telescope ?
& o=t B fo>Se

©  f,<f, D fo<</e

gar o e, & AH AGIR S

A) A (B) 3ad

) 1 D) 9x10°

The value of €, imair is

(A}  zero l[B/ infinity

c 1 (D) 9x10°

ﬁqﬂ-mﬁwaﬁﬁmmwmﬁmwmmﬁm%

(A)  gE m 2

© 2 O V4

The value of force acting on a charged particle in electﬁc field is
(A)  gE (B) %
© = O) JaE
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a3 & 4 i B & dra wwea wiftem &

£ &
A A { | B
Al C (B) %
. 2
(C) . g D =
(D) c
Equivalent capacity between A and B in figure 1s
By
s— — = B
(A) C (B) %
2
C 2C —
(C) (D) C
T F AR - fe e § A wE E 2
- RA .
M - 3L (D) p=RLA

Which of the following is correct for resistivity of a material ?

_RA —
(A) p= =5 (B) P=RA
© =& (D) p=RLA
ferva-9aoTean SET gt ©
&y == B) dx.dV
av :
(C) % (D) 9 | HIS A&
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Potential gradient is equal to

(A) v
+ of these
4 dv B oo
(€) ey
10. Foea oeieq &1 .1, A 8
@A) simafe gy S
Het) !
) aee-tiex o) (ARHED
S.1. unit of clectric flux is
(B) umpEl’C.mClrc

(A) ohm. metre

g )
(C) volt-metre (D) (voll) (metre)

1. UIY Q-ne 3 et § @ n &1 9 @9 T8 2

(A) 4 B)_ 8
(€) 42 (py 100
Which of the following values of n is not possible in relation Q=ne ?
(A) 4 B 8
C) 42 (D) 100
12, Uw GHIER uigs duiie @) wier & fag Frafefen § @9 W@l e 2

€, A ' €, d

@ =% B
d A

(C) < A (D) e d

Which of the following is correct for the capacity of a parallel plate capacitor ?

w5 LI

d A

(C) €q A (D) €9 d
[117 | C [{A)-9001-Caa)] Page 6 of 28
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fere]d ufay 1 vifs 2 ¥

w VR B) VIR

©) l’f_\; 1o R .

power ol clectrie circuit is

N VR B) V.R
(C) -ﬁt- (D) VR
yifreta i gan 2
w =,
! B (B) i
1
{C] w.c {D] E-C-

Capacitive reactance is

w
(A) =

(B)

(C) w.c (D)

gl s

el & GHIER %0 o fretenad § e afe 99 e ?
TNERELEIGE (B) W
© fovair sk urr A (D) T ¥ HIR TR

Which of the following is the same in parallel connection of resistances ?
(A) Potential difference

(B) Current

(C) Both Potential difference and current

(D)  None of these
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6 U 30 SRR e ¢

(A) 10° mH (B)

() 10 *mH (D)

One henry is equal 1o

a) 10°mH (B)
(D)

(C) 10 *mH

17.

10°mH

10 ®mH

10 mH

{5 mH

Fediifiea et 3 o et § A T E 7

1
. A (B) =N
Al 1. = 576931
T, =5
) T, =(0-6931)x D) fa ™2
ot elarnenit P
Which of the following is correct for radioactiveclemen
: 1
it =se N %=
A Ty = 576931 { .
D) T, =%
(C) T,=(0-6931)A (D) a2
18. Frfefaa o 7 @@ @ 2
(A)  (1100); =(12)0 (B)  (1001); = (12)i0
(C) (1111); =(12) (D)  (1011); =(12ho
Which of the following is correct ?
(A) (1100}, =(12)0 (B)  (1001); =(12)0
(C)  (1111); =(12)0 (D)  (1011); =(12)0
19.  Tet e & forg Frefefad § 9 e 2
(A) AND, OR, NOT (B) AND, OR
(C) NAND, NOR (D) OR, NOT
| A1¥ ] C [(A)-9001-Cy33) Page 8 of 28

by:BSEBResult.In



7 Y bty ! |

cep T pm— g o

wWhich ol the following is correct for fundamental gate ?

(A} AND, OR, NOT (B) AND, OR

(C) NAND, NOR (D) OR, NOT
0 foatabad 4 & st 9@ 7 2

(A) 12T (B) w -0

© e (D)  FEEH

Which of the following is not charged ?
(A) Photon (B) o -particle
(C) B -particle (D) electron
1. @ UieRTd ® Gre § dien ©7 @1 A @ ®
(A) 1 (B)) .2
cy 3 (D) 4
The value of yellow colour in colour code of carbon resistance is

A) 1 (B) 2

< 3 (D) 4

59, dCZTHIZR HIYal &

(A)  wfeRmy B) fayam=R
() 4/ (D) H & &g TR

Voltameter measures

(A) resistance (B) potential difference

(C) currcnt (D) none of these

[ 117 ] C |(A)-9001-C33) Page 9 of 28
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23. 1

&1 94 et &

4n €, 5
o
, @) 9x10°Nm°c
(A) 9 x10°Nm?c’ o i
g x 10 12Nmc
(C) 9x10'2Nm?c (D)
The value of —— is
in €,
5 2.3
(A) 9 x 10°Nm2¢"2 (8 9x107°NmZc
¥ 2. -2
(C) 9 x10'2Nm?c¢c? () 9x10 ¥ Nm®e
24, freafafea & 99 G5 @&l & ?
5 o
(A) E=% (B) E=gF
_’,_ q ﬂ:-—-—l—-i
(C) E_'-;%‘r- (D) E 4n € ?
Which of the following relations(is correct ?
- - 8
W  E<L ® E=qF
24 = 1 9
(C) E-g B) E=go -
25, foga-fova weR e &
g w
(A) 0 (B) q
€ wgq (D)  Jwg
Electric-potential is equal to
9 w
w 2 ® 2
€ wq D) Jwg
[ 117 ] C [{A)-9001-Cy33) Page 10 of 28
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5 Ferefta fovga-amept w61 5.1, sy e &
Ak em (B) cm?
(€C) cm ! D) cm-2
S.1. unit of clectric dipole moment is
(A) wm (B) cm?
(C) cm’! D) cm-?
g7, T ST (F) SR g &
[A} 1CvV {B] 1 C‘V'l
(€ 1cv2 D) 1cv?
Onc farad is equal to
(A)  1CV B 1cv!
(© 1cv? ) > cv?
08. R AT ®t Refre St 2l 2
A) Cv? (B) 3cv?
L a2 1 ~y2
© scv o tcv
Potential energy of a charged conductor is
(a) cv? B) 3cv?
1 1 ~y2
© 3 CcVv? D) LCV
29, weHII-TY fohrg ifae vl &1 am ® 2
@ T B
© St (D)  WEHTET Sl et
[117 ] C [(A)-9001-Ci33) Page 11 of 28
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The unit of which physical quantity is light

\()i/ Distance (B)

(C) Encrgy (D)

30. U Wiel GanERl & w gon Sfafa il €
(A)  @Toqiaes 3R Iyl (B)
() urafass 3Rk (D)

The image formed by simple microscopc is

(A)  Virtual and erect (B)

\(2{ Rcal and crect (D)

year ?

Time

Intensity of light

FTeafe 3R 3L
e I I

Virtual and inverted

Real and inverted

31, It ot g1 Freerfaa o we-ar gz g¥ foRg o € 2

a) Frme-gfeear - (B)
(C)  RI-GERTEm (D)

qu-gfeea
srfa=gehel

Which of the following eye defects is removed by convex lens ?

(A)  Nearsightedness (B)

(C) Presbyopia (D)

Farsightedness

Astigmatism

32.  ooi-fasiuor ermer & forg fefafad § &9 999 T@ 8 2

u, — M T -
(A] w:FI—r (Bl w"[“u ur}(“y 1}
Hy =1 M, K,
C) w= (D) = |
By =By By -1
117 ] C [(A)-9001-C33) Page 12 of 28
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which of the following relations is correct for dispersive power ?

M, —n
(‘A) i = ; (,B] w=[¥’-.;’l~‘r](l~‘y-” .
Hy =1
T | . 5
4 it r
©) o= oy (D) Fhe

frald H TP T AT o | BT (u- 3/2) § IHHT A EW

3c 2
(N) 5 (B) _3.‘2
4c¢
€ °F © 3

Velocity of light in vacuum is c. Its value in glass (u=3/2) will be

w5 B %
- dc c
(€) 3 (D) 5
', Wmﬁ%mmw&mﬁ%
@& S-S B  f,xfe
Jo
E B D
€) o D Sfo+fe
The length of an astronomical telescope for normal adjustment is
A S =Js B)  Sfox/Se
(C) ~§—" Dy f+T
. % @ A F @ F o F G QAT A €
(A) 1 mm (B) 2cm
J,o)/zs cm D) 1m
117] C {(A)-9001-C33) Page 13 of 28
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Focal length of eye-lens of a healthy man is about

(A) 1 mm (B)
(C) 25 cm . (D) 1 m

36. :xaﬂu.mﬁmfﬁrﬁaﬁﬁmhﬁﬁqﬁaﬂm?-?

2 cm

1 A-4 4 A A
S Y
(A) 5 X— o Y + 2Hc (B) 5 X .
A A+4d 4 A A+d
[ TRy Ty iHe (D) X— Y+
Z - 2 Z 2t
' A
Which of the following represents the « -decay of X 2
A A-4 4 A =1
(A) X— Y + He (B) el ;Y *
Z 2-2 2 z o
A A+4 4 A Y
X— K *
© x— "T¥+ He o o

37 faefeafga & #19 Gifere o1 981 €2

(A} g

(C) - (D) gt

Which of the following is not a fundamental particle ?

(A) Neutron (B) Proton

(C) « -particle

va%mﬁmfaﬁaﬁﬂaﬁqmﬁv-w%?

(D) Electron

38.
(A) 30-300 Hz (B) 30-300 kHz
(C) 30-300 MHz (D)  30-300 GHz
Which of the following is the frequency range for TV broadcasting ?
(A) 30-300 Hz (B)  30-300 kHz
(C) 30-300 MHz (D)  30-300 GHz
[ 1 17 ] C ﬁAJ-QOOI-Cp.‘Bji Page 14 of 28
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39, HIFN 1A & fom Frcfefan 5w o 9 &

(A)  SHEH (B) M

(€)  Ufemm P

Which of the following units is correct to measure attenuation ?
(A} dccibel (B) ohm

(€C)  ampere (D)  volt

40. T pUER HE-greE g 8

(A uETEfeE

(B) BT

()  HIEfeE

(D)  TH I A9 R e @dfea 3¢9 a9aHE 9 e

A p-type scmiconductor is
(A) positively charged
(B) negatively charged
(C) uncharged
(D) unchargc;! at absolute zero temperature but charged at higher

temperatures  https://www.bsebstudy.com

41. ETEZIT QWE] H 9 @ gAaH FEig Hvig & g g

h
o | 3
h h
€ 5 D) 3
The minimum orbital angular momentum of an electron in a hydrogen atom is
h
(A)  h ® 3
h h
mi8 D L]
(C) 2 (D) 2
[ 117 ]| C |(A)-9001-C33)| - Page 15 of 28
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42, T 3UESA GTAIY] H} GErAHAT @il &

(A) 3 (B} 4

(C) 5 (D) 6
Donor impurity atom has valency

(A) 3 B 4

(C) S5 (D) 6

43. ferdl anam @l adfers ERIE‘J'QHHI (€,) i:»"fr_"ﬁ %
A) = B
o (B) Ex€&g

() €+€, (D) €-€g

The relative permittivity ( €, ) of a medium is

(A) 'EE— (B) EXEy
0
(C) €E+€, (D) €-€
44. UHfEg aﬁwq@rﬁwmﬂ-ﬁﬂaﬂmﬂﬁm%
1 q 1 q
- B i
(A) 4ne,'r e) 4rn e, r?
© R o
4n €, aney T
The value of electric potential at a distance r from a point charge g is
il g B L4
(A) 4n €, r (B) 4n €y r2
2
q.r D 1 'E._
G e O e
Page 16 of 28
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(A) FT AN « Fo stvme P L
Fel HARH
T A=
(€] =—r———— g
T AT (D) FA AEN x FA AFAA
Surface density of charge is equal to
(A) Total charge x Total area (B) Total charge
g Total arca
Total charg
(C) Total Volumi (D) Total charge x Total volume
g1 &1 A i e &
(A} 80 (B) . .60
(ST (D)~ 425
The diclectric constant of water'is
(A) 80 (B) 60
€)1 ’ \JB( 42'5
R fa=n =} gt &} forgm-wifcan @t &
R
(A) aneg (B) 4neg R
4n €
o —t D) 4re,.R?
Electrical capacitance of earth of radius Ris
wi = (B) 4neyR
4n €,
4n e 2
0 (D) 4ney.R
© -5
Page 17 of 28
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a8, e Ufinay GuE e &
b ddve
an
©) 1 dliee <1 3 (D) L
One ampere is equal to
(A) I coulomb (B) 1 coulomb <1 second
1 second
1 ohm
(C) 1 volt x 1 ohm (D) W
q0.  faga Ak a6 F 5HR @
() A (B) I
©  are (o) _ =g T iR
Unit of cletromotive foree is
(A) newton (B) joule
(C) volt (D) newton/ampere
50. giawii & feu fmfafad A M € ?

a8 AC. @ D.C. § agerdl &

(A)
(B) @& D.C. %I AC. & ageran €
(©)  F& D.C. A Hl a1 Hewd ¢

(D) uﬁa.c.aﬁﬁzmaﬁammmﬂam%

Which of the following is correct for transformer ?

[t converts A.C. into |5 G

(A)
(B) It converts D.C. into A.C.

(C) It increases or decrcases D.C. voltage
(D) It increases or decreases A.C. voltage

Page 18 of 28
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#V1 Y4 Uraren
. gl F1 S0 "rEw R

@ N N
# =
(C) s A.m
| (D) N
s 1. unit ol magnetic pole strength is
(Al N N
(1) A.m
(€) A.m A.m
B} =g
gl % TR Y R 0T H107 1 7 @
!A} 0° (B] gQ°
& 9 (D)  180°
The value of angle of dip at magnetic pole of the carth is
w0 (B). _90°
()  45° (D)~ 180°
frafd 1 JreTehta ggfer T a9 &t &
(A]  0-5% SR (B) HAd
(C) 1% SR (D) YA
The value of magnetic susceptibility of vacuum is
(A) equal to 0-5 (B) infinite
(C) cqual to one (D)  zero

qmwﬂﬂm%fﬁqﬁmfﬂf@ﬁﬁﬁﬂmﬁl%’r%?

W n=g B n=L
€ u=B.H (D) w=(B+H)
7]1C [(A)-9001-C33) Page 19 of 28
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ility ?
rrect for pcrmmbul:ty

i . ‘)
Which ol the following relations 18 ot i
7]
o3 - " (13) o H
I
(©) 1. o w8l
= H - & .
- s B
; &1 i "
» ¥ z p 0 H'I}UI ﬁ ' H i
wa wd p, '.

55.  Qiathly aquati N uifga g
B a1 3cu UZE B, A Cyrftfga A @ dé g 7?7 ,

{H’ BV = BCUH&

(A) . B, = Beosd

= Hinﬁ‘
(C) B,, = Bsind (D) B, = By
& . B J
; T s is angle of dip. 2y
If B is carth’s magnetic ficld in magnelc meridian, 0
- ;
hi
- . . cnt Uf [3 ’ lhcﬂ w (4
horizontal component of B and By 18 verticdl ‘compon

the following relations is correct ?
= ‘03'5
(A) B, = Bcosd B) By =Bc

_ B, sind
tcj Bho = BSiﬂS (DJ BV = Bh' sin

56. Ty qin & wuRw # fewn @l ¢

- s
(A)  E ¥ gEiw (B) B % FARR

- — - e - .
(C) (B x E )% @H® (D) (E xB)® FARK

The dircction of propagation of electromagnetic wave is

- —
(A)  parallel to E (B) parallelto B

> - 5> -
(C) parallelto( B x E ) (D) parallel to (E x B)

117 ] C [(A)-9001-C33) Page 20 of 28
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frfeliaa 3 fvg Wi Tl & afaeror weren @ ATl el (A

A @y -
© TR o
interference of light is the redistribution of which of the following physical
quantitics P
(M RS (B) Intensity
(€ Wavelengin (D)  Speed
5. FICT 1 RIH-gmm e &
& (B) 34
(C) 91 x103, D) 16 x10 Tk
The rest mass of photon js
- o (B) infinite
G 0 (D). ¢ 16210 %" kg

59. R F IghT ¥ g @

(A) ‘1‘*52*4%?1\.' (B) E, - E, = hv
() E,-E,=3hy (D) E -Ey=3hv
Bohr's frequency condition is
&) E -E,=Zhv B) E, -E,=hv
(C) E,-E,=3hy D) E-E,= %hv
60. TR FHeAl &1 B BT 2
(a) et faguea (B) Tt Rl
© T it @ faei (D) AT Sead
[ 117 ] C |(A)-9001-C33) Page 21 of i
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The source of solar encrgy 18

(A) nuclear fission
(B) chemical reaction
articles
(C) annihilation of clementary particics
(D) nuclear fusion
‘ 7
ol %$1W¥W@miﬂﬂﬁ$ﬁmﬁ#@ﬁﬁﬁh%‘
(A) ~ Gl @)
(C) g (D) T
icity ?
Which of the following is the best conductor of electricity
(A)  Silver (B)  Copper
(C) Gold (D)7 | Zinc
62. NOR-FR® 1 Ficidn Sieieh eiar &
=Y
(A) A%B=Y B) A
C A.B=Y o) A+B=Y
Boolcan cxpression for NOR gate is
A.B=Y

(A) A+B=Y (B)
\}g]/ +B=Y

(C) A.B=Y
- surtt @@ (1001), FI e WEAT €l €

B)  (18ho

(A) (12)0
Wi (@25)0

(C) (9o

63.

Page 22 of 28
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rhe decimal number of binary number (1001), is

Al (12 (B)  (18)0

€ Oho (D)  (25)ho

( FFE TFE R 1 F vae &S00 R Wiy % e § 300 S a8
(A) I . R 1

B) 1.R?.1t

2
jei o e (D) I12%2.R%.t

The heat produced in a conductor of resistance R due to flow of current [ for
gmce 118

ar ki B 1.R%.t

© 1R @y 1% R%1
51¢-sla(éﬁﬁ1}m§a¥hﬁaﬂmgﬁm%

T 3

TR
|'1] S x W R % 105 ——t
- - &
€y S 10“?"—)1— D)~ 5 x 102 IR (HRYD)?

Magnetic field of 5 tesla is equal to

(Al & weber (B) 5 x 10° w.'..'el:)c:r:2
(metre)® (metre)
B GElec &fz (D) 5 x 10? weber x (metre)?
(metre)

yRITEAT YRT T r.m.s. AF (1 _)aﬁtwaﬁrumﬁfsmnﬁ(m%aﬁﬂ

r.m.s.
(A) ‘[Lm.s. = 0-505 IO [Bl Ir.m.s. = 0-606 "o
fCl Ir.m.s. = 0-707 10 {Di Ir.m_s. = (0-808 I()
7]C [(A)-9001-C33) Page 23 of 28
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The relation between r.m.s. value of alternaling current { frms ) and peak vilie
of alternating current (o) is
Ay 1, s =0:5051 B lims 0-606/o

o fms T 0-8081y

€ s 20707k

r.

mﬁwmﬂﬁ“ﬁ

67. aﬁvﬁuaﬁhmamm?ﬂmqﬁwﬁj,ﬁﬁa

(Al '{f (B) w- L
B e L
(< = 1>
ac circuit

an inductor of inductance L in

www.bsebstudy.gom

|

Inductive reactance offered by

angular frcquency o is https:/

(A) i;— | oL
(C) T.le (D) -fj
68. %W%ﬁqﬁm&ﬁﬂﬁﬁamﬂaﬁ%?
(A) wﬁﬁm=mmmﬁsxmﬁﬂﬂ#ﬂﬂﬁﬁ
st = w6
T :_________.——-—'—"_'"-
@ A T = e
et T Wi
T =_________.-—-—-—'_'_"
€)W T = e e
(D) wfaiqnﬁm=§|um%?umwi'ﬂ;xm@m¥lﬁﬁl
Pagc24ol'28
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8¢
Orrect for power factor ?

True
Average
Power x Apparent average power

(Bl  Power facior o A
r = \Ppare
% nt ﬂ.\i‘erage power

Nue average power

(C) Power factor = __True average powe
r
Apparent average power

D) Powe
t b } [ True avera
; gc power x Apparcent average power |
g0 FI TN R 0 & wg gy N
Al 3 .
(B) 4
S
(D) 6
Value of green colour code of Carbon resistoncs ia
(A) 3 - i
S (D) 6
g -
0. TEHE 85 B H v dn § nfawiier snaw (q) W R a0t G @ AT 8
(A) f? =q“-;x3] = o
B F,=q(BxV)
o P AB) > _ (VB
e — D) Fps——
i

Expression of force on a charge g moving with velocity V in a magnetic field

—
B is
- = A Y BxV
" P -q(VxB) (B) F,=a(B xV)
- = v xB
- B xV) _'= -
) Fo.= ( . (D) F, q
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w_ﬂ-jgschON'B

Fg Iwita ¥ / Short Answer :'P ‘;::G;T‘:??EF F v 2
mm:#zangaﬂ#ﬂré‘!www 10%x2+=
Fraifea & : 10 questions: Each quéstto
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 %2 =2
carries 2 marks :
| < g @ <) v v # el

Write two essential conditions of constructive interference: 2

o A7 &) wrieR A § & @ @ § 2
What do you mean by power of accommodation of €¥¢ ?

3. e & A FT FHHA € 2 :
What do you mean by semiconductor ?

4. factas sEue @ @ | #
Explain sccondary rainbow,

5. amtaed fran @ fed %
Write Biot-Savart's law.

6. faega R F WA .
Explain electrical resonance.

7 %mw%mmﬁmaﬁmﬁmwmﬁa‘?? 2

| What do you mean by apparcnt angle of dip at any place ?

8.  F&X ® fan ferd 2

Writc Brewster's law.
2

9. giawnR § amm-er H W |

Explain copper-loss in a transformer.

Page 26 of 28
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19,

T Tra X
- b TR

2

Explain solar cell.

11, Wﬂa&ﬁuﬁmnmwmtj 2
Whi’l do you mean by capacity of a conductor ?

12. m*i"mmﬂqmﬁﬁwélm#s.:.mﬁﬁfﬁ’ﬁl .
i)cﬁnt: volume density of charge. Write its S.1. unit.

13 T R o e ) oo 3 .
Define electrie flux 6n a surface.

14 TR fave F o 3 -«
Define magnetic potential. )

15 uam%wmwﬁq%hqmvﬁﬁfﬂﬁl @;
Write necessary conditions for total internal reflection of light.

1o, TREA AR 3w e &) | @
What do you mean by Paschen series ?

17. NAND-ER& & ¥ogmi @
Explain NAND-gate.

18. T HIgEH H R @
Explain [requency modulation.

o, dier () Folt & < i @ e ?
Write two properties of beta ( f) rays. ; GfATd

- & o B

20. n-UEH F AGAES H GEH | g ’
Explain n-type of semiconductor.
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by:BSEBResult.In



stions
aﬁdawﬁum/mnsﬂﬂ’“'mequ; sy & 1 9w T P

mmzz#zaa‘iﬂaﬁﬁamérﬁfﬁ3w 3x5=18

5 3w frytfea # ny 3 questions- Each
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any - .
rfq,es!fnn carries 5 maurks :
@ g ’ % S
21, A @9 & faw A fgan gan g3 wiua w3
1 1
—==[u-1 =
g = (R RJ
Establish the formula for thin lens given below @
1
=1 | — -
f SN =) ( R, RJ
S

2. WY YeIEel @ e we & feru wives una & |
Find out the expression for magnifying power of compgund microscope
27 Gﬁh%{?ﬁﬂfﬂ{aéﬁaﬂwwhﬁiwhg;ﬁhwéﬁ?ﬁ?ﬁﬁwﬂﬁﬂﬁl S

IEstablish the expression. fof clecric potential at a point duc to a small clectric

dipole. https://www.bschstudy.com
AT T O & ey & o s e @6 S
Find out an expression for root mcean square value of an alternating current,
25, ﬁw,ﬂﬂmﬁamﬁgmwﬁﬁwﬁﬁ?ﬁl 9/\5{}’
Write properties of diamagnetic, paramagnetic and ferromagnetic materials.
26. mewmmmmumwma ? teamfeea e
% fo0 o g (v= Wy et i a5

Establish disintegration formula (N = N, e M ) for radioact; b
aclive substance.

:=?—‘_==_-_._
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